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Find the area of a parallelogram

(1-5) 658
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A=bXh
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) g bl §3lske US doLue ax gl

3. 77 m?

1
|
[8m :7rn
B,

Mm

A=bxh

A= x? A=10x5 A=11Xx7
A=12 A=50 A=77
b Findtt:j :“rj: I::;:I:’:;‘a m o i
_/;’«“ N 700 cm? w>luos 35 CM wucld ¢ila] siloe glas ) Ayl . 4
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h 35 = 20cm
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| (4 Jua) fashgl) >l sy
6cm / :5.1 cm
i A=bxh
,,,,, L
2.6cm A=2.6x5.1
dakadl) dalice A=13.26
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(1-6) 670

Find the areas and missing dimensions of triangles
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Find the areas and missing dimensions of triangles
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Find the area of trapezoids
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1
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1
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Find the volume of rectangular prisms I

(1 L) e JS pondr s |

£
Y — A 3 6cm
4%,,., 3m 123 m . :
10 m 1 4 zcm
210 m Siem
5m
V= Ll.wh
V= l.wh V= t.whk e
3
= 6 X4—X6
V= 10 ><3><4§ V= 10 x5x12% 5 4
V=6x3.75X6
V=10x3x4.4 V=10x5x%x12.375
_ 3
V=132m3 V = 618.75 m3 V=171Cm

BASE] Judatanal! 3gidall s Slaes]
L} (1-5) 737
Find the volume of rectangular prisms
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Find the surface areas of rectangular prisms
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1_j '
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5m N 3m | 1 43cm
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| 8.1cm

SA=2°¢/.w + 2w.h + 2.h.? S.;= 24w + 2.w.h+2.h.¢

SA=2x7x5 +2x5x3 +2x7x3| S.A=2x81x43 + 2x43x127
4+ 2x81x12.7

SA= 70 + 30 4+ 42 S A= 6966 4 109.22 + 205.74

p— F 1
= 142 cm? = 384.62 cm
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Find the surface areas of rectangular prisms
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= 2.f{.w + 2w.h + 2.h.?
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S.A
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Find the volume of pyramids
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Find and interpret the median and mode ofa set of data

. (L) (s ik goome JSI Jlgiedly dawad) (g dor ol
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(11-14) 839

Find and interpret the median and mode ofa set of data
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Find and interpret the median and mode ofa set of data
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.Find the measures of variation

7456 513 63000 S5D10% 0017 565
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.Find the measures of variation
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.Find the measures of variation
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NS .Find the measures of variation
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Construct and analyze histograms
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Construct and analyze histograms
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Construct and analyze histograms
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gﬂ?%gﬁgﬁ . Display and interpret data in box plots
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Display and interpret data in box plots
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Display and interpret data in box plots
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Display and interpret data in box plots
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3 M aclisly 24 M2 wislus )l (g5lsm0 30eld angl .4
B — A Bl oA Jsganall dal
h
- 24
| Sl e iy S W G L daliss gl .5
55m |
BN A=bXxh
- . .
PZ.?Sm—'

15.125 m? i) dalu dabuwe A

15.125




EMIRATES SCHOOL oYl (§)lgie dobia Sl
Eontos sk u el oo 4 (4-6) 659
Find the area of a parallelogram

Jiadile adajall o dnlis, Zadl AN solese Sediss peso XL 1D 6
Jaasd) 8 algged) sla¥) CaS) gdal siloxe

el el gLG,Y ALy
(m) (m) (m2)

h= 13.3+-4.75 = 2.8 1 475 2.8 13.3

h= 12.6+-3= 4.2 K 3 42 s
3 3.1 4.5 14
h= 14-+-3.1~ 4.5

Jekal slauly Gl sex § Olalias
% Jglall slauly JumYl Sl § o (1-3) 702
Draw polygons in the coordinate plane and use coordinates to find length

edalugd) daons ar gl 5 .l US Jado low¥ SLIA> BT pasiil

1. L(3, 3), M3, SIANGERS), 17, 3) 2. A3, 0), X6, 0), R6, 7), S(3,7)

IM=5-3=2 MN=7-3=4|PQ=6-3=3CQR=7-0=7
NP=5-3-2 pPL=7-3—4|RS=6-3=3SP=7-0=7

bl baa =2 + 4 + 2 + 4 kil bas =3 +7+3 +7

= 12 =ab

Ughall slawly Jio Syteuall § Olabias sy
Draw polygons in the coordinate plane and use coordinates to find length
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slial) (ugsy wldlasly Lediie chid daome Jo> Vigws laa g .3
L, S Jols & Ciale )3) (0, 0), (0, 10), (5, 10), (5, 0) o
R Gsliagd) ¥ jlane 2ol asgls 30 M aS il e pje

(3 Jlis) Seliad) JS& Lag . ygmall

----------------------
...........................

T :i: Jsbll =10-0= 10

-----------------------

o bad) =5+1045+10= 30

MY B =30x30= 900m
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Find the surface areas of pyramids
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2. A 15 mm

E/ 17 mm o) Andacd) Aalaaall

n 7cm. l//‘ .
\” Lk . < | 17 mm // PN
| A\ SA=Bianl

Y SA=B+3.pl
San ™ a 17 mm
‘ A = 125 mm?
Bl dabiea gl
Jagyall bl haa ikl
Saclllf dalus  Z84) Sastil e Eﬁ'

day
S. A= 5x5+—x(5+5+5+5)x7=.
L] 1
SA_125+?X(17+17+17)X15=
= 507.5 mm?

— —3 2
25+ 70 95 cm — 125+ 3825

s o4l Exlacd] d-bna Stani] I (1-a) 791
Find the surface areas of pyramids 3‘,.:‘ ca Nshd H;i u.” u;s Jle s 2:-".",?’ c_h_‘_" i Lo .‘?"
‘.;: ‘ /, ]‘\\ 83m
, { el i \ ‘\\/ et :
/ol \ X
“ill )\ 159 cm _ 1 N [j
) S'A—B+iﬂ ’ 6 %F/Gm S.A B+zpl
|
T \ ‘ 52m
[ ] )
| Y Baetil) Jablica gl
7 8.2cm S. A) 1 AlJielbe. gl
8.2 cm __XGXSZ+_X(6+6+6)X83—
(w‘)‘&mlw (Wl)‘&m‘hj&l JM&LHJY! _15 6+747
A =82x82+— ‘ )
S.A=82x82+ = X(8.2+8.2+8.2+8.2) x15.9 90.3 m?
=67.24+ 260.76 = 328 cm?
1a C el i oo (5-76) 737

e T ain ey a2 RBION e

(3 JeaJn
| 74

V = 2830.5 m3 Il = ——
w.h

w= 18.5m 2830.5 2830.5

L = 18.5X 9  166.5

h=9m
=17 m

=7 m I
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Find the volume of rectangular prisms

25 x4 10 ~ 7 x52 = 364

all dpSdl SN perilies Jlei

Choose an appropriate measure of central tendency

15

(1-4) 865

, ks azgl 45 4 60, 70, 45, 60, 80, 35, 12 5,514l b s ) @l soc B
2 Sl puliie srgl @ last bl Jia (b Jast) 5l

(Hokia ) 5.9 o 305 Y Sun, il A5 (B G g (bosal) Jaus i)
45+60+70+45+60+80+35 =56 4
7
gad pd dar gl ¥ Sl LA ?.a Juad ¥l 4a i‘,.5;.....;: Ja iyl
005564 1 alus! daw iyl

(bl Jau ghali=

P T LT e
Choose an appropriate measure of central

. - - i Alay 4l
QR 2= | | bl | ke VI bk @ B il el 48 il 22
2 (cm) jmaizas 6.14 719 863 838 647 243 PG T N
2.43,6.14,6.47,7.19,8.38,8.63 RIS o sableell Eogees
sl M sy, Jusay e 28z
=3 Loy i) deall ses o Sbld) sy 2 Jad¥) 58l (el S5) @
kel Hp Ea e e3> 0 BY

ol dagiali S14HT 1986348384647 _ o 2 | iijii- 243 em
5 Lusl =7.19 cm
Jgadl =2aaY
q‘hﬂ.ﬁ .lnujn.“ =6.14+7.19+8.63+B.33+6.47+2.43 — 6.54 D sia) 3m gy Y + 20 k0) gl e
’ s = 6.83 cm

43 jlaial) Aaihl) ¢y il sy (b Juad) oA e} Apast (dlsad) o glal) Gl Ciua 15
2 Jiad il 29m9 o gl iy (3 S g e Tl dap st




i | ) Bl BN glie el
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—
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- e LT AN o) A kot By 42
jg (cm) jusabiigs 614 719 863 838 647 243 o a8kl el sa psl dus 50l ‘.5 ’
a4k 208 sas bl degens

2.43,6.14,6.47,7.19,8.38,8.63 : "
ibled) Jlsiag dacugy Jawsy (e &8 dasall S
32 Lgasy a8 el aeall ssey po bld) Lrag B LB 55 ,eull ubas S5 6
il 2 ga a3y o5
£ 4 i) A g
) bgiay S14F7IIHB63483BH64T _ o o i = 2.43 em -
5 T " L
bl =7.19em
e 0g) R

6.14+7.19+8.63+8.38+6.47+2.43
i) Jau glal) = = = 6.54

Oyiall 299 Y| 2 Mol Lot pa|

Ll = 6.83 cm s
uMmmww;undepmwa\uq ! \3Ca J‘M‘

\ uytmiwymlmqidd‘zmﬁ.‘nmwn\

s |

S RSl AN pmolin S |

(1-a) | 865

| Choose an appropriate measure of central tendency ]

d‘ :9“ ds 2 1148 = 43 Jhaial) Lagdll

sl Fandl Gl dscogna Jound) pigy TN

A;aLtL_....”' 4L go>ua UJ 5.3_,.]&'..4.” &.4__..'4]' 24> 8

- — Mgselly dnpuplly galuuslela wgiall Lo 38,00zl deal) 355 ciuS sa> b
MULM’. ‘u [pagl) =24 m | Il = 305 Y | o) = 62 — 10 = 52 [EEEFTEEG] -, bLU ;s
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Find the volume of rectangular prisms
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Describe a data distribution by its center, spread, and overall shape
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Describe a data distribution by its center, spread, and overall shape
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Describe a data distribution by its center, spread, and overall shape
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Construct and analyze line plots
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find the Area of Composite Figures
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4 cm 1 Qe
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A; =26.6 cm?
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- 2
A =586 cm? Ay =32 cm
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find the Area of Composite Figures

carall Glasl J) sole gujyan dddley elowd HBacud) pgad 4
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(4 5 3 ¥ Salzsdly g.a,50

11-9=2 12 -12 =2 Jalsal) ay el S
A; =12 x11 =132 m?
A, =12 x 11 =132 m?
A3: 2)(2 =4' m

2

12m

Mtaal.«.uA=A1 +A2—A3
A=132+132 -4
A =260 m?

4851 JEAY! dlsa (1-5) 718
find the Area of Composite Figures
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gm —Ar=—x7x3.5= 12.25m? ) &l

A, =7x4.5=31.5m? A=A, +4;

A =12.25+31.5 = 43.75 m? q’._;z'

aalSa)l asgl .32 M2 iy AED 20 Sl e gslls JS 2alSs Wb
lisle] 5 3asly 30 colod) 1ia oMa) 2l

43.75+32~ 14 =2 gal
2 x 20 = 40 AED
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sssssssssssss Find the surface areas of trianngular prisms

.qhﬁ seiia JS e do-lue do gf

alie sacly S dxlus

1
A-E.b.h

1
A=51x5 A=20x5 A=37x5 A=7 x51 x12 =306 m

=255m%? =100m%2 = 185m?

| Jsdidl dalues. 4 |= 306 +306 + 255+ 100+ 185 = 1152 m?2
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Find the surface areas of trianngular prisms

(1-7) 781

1cm

Jyddall Job = 1.2

A=1x1.2 A=1x1.2 A=1.2x1.2
=1.2cm? =1.2 cm? =1.44 cm?

[ osdidldaluss. A |=0.48+0.48+ 1.2+ 1.2+ 1.44 =4.8 cm?

g bo .
el malril I ygiiall doloa 3l
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Find the surface areas of trianngular prisms

"’-q , ﬁ ‘!ﬂﬁ J’-l:l-'t. S o s Luso -l.g-,i
A m\‘:'?\15 m

s hedaius asxg JS d>las

1.7 m-= 2m ailis sacly JS axlus

24m

1
'E'b'h

A=1%2.4%x1=1.2 m?
A=2%x2.4 A=2x1.5 A=2x1.7 2

= 4.8 m? — 3 m?2 = 3.4cm?

[ ssddidalws 4 |=1.2+ 1.2+4.8+ 3+ 3.4 =13.6 m?

?%&éﬁﬁ? 22 ¥ sl gl A ] (1-7) 781
FRTNRLRHNENT Find the surface areas of trianngular prisms
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'd-'g 4. 9:)1: i JS o dovlug dov gl
3 ‘ "1 N 15.6cm

sdelatis axg JS dnlus 10 cm |
"M cm bailio sacls JS dolis
| L Cod
Ssedall Jsb = 11 12 cm

1
A-E.b.h

A=1%12x10=60 cm?
A=12x11 A=11x10 A=11x 15.6 .

= 132 cm? — 110 cm?2 = 171.6 cm?

[(siiddales A | =60+ 60+ 132 +110+ 171.6 = 533.6 cm?
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Find the surface areas of trianngular prisms
oin Jou) Bleal) oo a3l oS 3 spdae JS& le des BE
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il il 3acld S dslus
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17m

= 3m _1
A-Z .b.h

Tm Tm
A:%xeL?
A=3 x 2 A=3 x 2 A=3><22 A=17 m?
=6m

= 6 m? =6 m?
=21.4 m?

o
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il dslues 4 |=1.74+1.74+ 6+ 6+ 6
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Find the surface areas of trianngular prisms

s LS S jedue JS& le (8,550 Llaa 3gans .6
(3 JLad)) Saganal) lis plaw a>lue L3 .uige

alie 3acly S dslus

1
A—E.b.h

A=% x 7.5 %10

A=5x7.5 A=5x%x10 A=5x12.5 A=37.5 cm?

=37.5 cm? =50 Cm? = 62.5 cm?

[Lsididales. 4 |=37.5+37.5+37.5+ 50 + 62.5 = 225 cm?
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Find the surface areas of trianngular prisms

ol 308 satig SR8 L b gapn By e
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e N (3 Jtad
18 cm /1/-'1 T 4 47 cm
Jobnzics asy JS d>Lice pr )
< ) ~ sl zaali s
47 cm 4 > ,\/\ e3> ilis aaeld JS d>lua
sl gob = 18 A "
2 . .

A=%x5x4
A=18 x 4.7 A=18 x 4.7 A=10 cm?
=84.6 CmM?* = 84.6 cm2

10+ 90 + 84.6 + 84.6 =279.2 cm?

A=18 X 5
= 90 cm?

[ Jsdidldaluns 4 | = 10 +
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.Find the measures of variation
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